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Sketch the graph of each function.

1)  y = −(x + 3)2 − 4
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2)  y = −(x − 2)2 + 2
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3)  y = 2(x − 1)2 − 3
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4)  y = (x − 2)2 + 3
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5)  y = −2(x + 2)2 − 1
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7)  y = (x + 1)2 − 4
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9)  y = (x + 3)2 − 2
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10)  y = −(x + 4)2 + 1
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11)  y = −2(x + 2)2 + 1
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12)  y = 2(x − 4)2 + 4
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13)  y = 4(x + 4)2 + 3
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14)  y = −2(x − 3)2 − 3
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17)  y = 2(x − 2)2 − 2
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18)  y = −(x + 3)2 + 3
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19)  y = −(x + 4)2 − 1
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21)  y = −(x − 1)2 − 2
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24)  y = (x + 1)2 + 1

x

y

−5 −4 −3 −2 −1 1

0.5

1

1.5

2

2.5

3

3.5

4

4.5

5

5.5

6



©Z B2g0S2M1x CKkuytIaS nSGoDfktcwKaYrWeF `LpLFCw.W B EAbltlK HrZiyg_hetOsZ `r]eosXekrQvue\dx.k U nMCaDdSeg GwEiktzhi JIGndfBiLnriitIeI MAElLg_ehbxrvaY r2W.

Worksheet by Kuta Software LLC
-7-

25)  y = −2(x − 2)2 + 4
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26)  y = 2(x − 4)2 − 2
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27)  y = 2(x − 2)2 + 1
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28)  y = −(x − 4)2 + 1
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29)  y = (x − 4)2 − 3
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30)  y = (x − 4)2 − 1
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31)  y = 2(x + 3)2 − 3
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32)  y = 2(x − 3)2 − 4
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33)  y = −(x − 1)2 − 1
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35)  y = (x + 2)2 − 1
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36)  y = −(x − 2)2 + 4
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37)  y = 2(x + 2)2 + 3
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38)  y = (x + 1)2 − 3
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39)  y = (x + 4)2 − 4
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40)  y = −2(x + 3)2 − 3
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Use the information provided to write the vertex form equation of each parabola.

41)  y = x2 + 6x + 11 42)  y = −x2 + 14x − 50

43)  y = −x2 + 10x − 16
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44)  y = 
1

3
x2 + 8

45)  y = −3x2 + 6x − 5

46)  y = x2 + 10x + 34 47)  y = −2x2 − 20x − 55

48)  y = −
1

2
x2 − 9x − 

71

2

49)  y = 3x2 − 36x + 101

50)  y = 4x2 − 80x + 393 51)  y = −x2 − 16x − 66

52)  y = −
1

14
x2 + 

10

7
x − 

92

7

53)  y = −2x2 + 40x − 208

54)  y = −
1

11
x2 − 

10

11
x − 

124

11
55)  y = 

1

3
x2 − 

4

3
x + 

28

3

56)  y = x2 − 2x + 8 57)  y = 2x2 + 8

58)  y = 
1

3
x2 − 2

59)  y = −3x2 + 36x − 113

60)  y = x2 − 4x + 2 61)  y = x2 − 20x + 105

62)  y = 
1

2
x2 − 9x + 

85

2

63)  y = x2 + 20x + 110

64)  y = −2x2 − 12x − 8
65)  y = 

1

4
x2 − 

1

2
x − 

19

4

66)  y = −x2 + 16x − 60 67)  y = −x2 + 18x − 77



©\ c2]0m2x1K AKcukt`aq SS]okfxtqwVaProeL xLoLwCB.\ e OAwlnlX Dr^i]gqhbtBsO qraeHsye_rZvhewdK.y ` aMpaWdHe^ Vw^imtAhi PIOnufwienOiNtNeq oAOlXg`edbVrCax Z2h.

Worksheet by Kuta Software LLC
-12-

68)  y = 4x2 − 72x + 334 69)  y = −3x2 − 36x − 103

70)  y = x2 − 8x + 11
71)  y = −

1

4
x2 + 

3

2
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72)  y = x2 − 4x + 14 73)  y = −14x2 − 280x − 1397

74)  y = x2 + 6x + 9
75)  y = 

1

4
x2 − 
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2
x + 
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76)  y = 
1

17
x2 + 

8

17
x − 
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77)  y = 

1

2
x2 − 2x + 10

78)  y = −2x2 − 28x − 98
79)  y = 

1

3
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3
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80)  y = 
1

4
x2 + 3x + 6
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Sketch the graph of each function.

1)  y = −(x + 3)2 − 4
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2)  y = −(x − 2)2 + 2

x

y

1 2 3 4 5 6

−3

−2.5

−2

−1.5

−1

−0.5

0.5

1

1.5

2

2.5

3

3)  y = 2(x − 1)2 − 3

x

y

−1 1 2 3 4 5 6 7 8 9

−4

−3

−2

−1

1

2

3

4

5

6

4)  y = (x − 2)2 + 3
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5)  y = −2(x + 2)2 − 1
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9)  y = (x + 3)2 − 2
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13)  y = 4(x + 4)2 + 3
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17)  y = 2(x − 2)2 − 2
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21)  y = −(x − 1)2 − 2

x
y

−2 −1 1 2 3 4

−7

−6

−5

−4

−3

−2

−1

22)  y = 
1

2
(x − 2)2 + 2

x

y

−1 1 2 3 4 5

−1

1

2

3

4

5

6

23)  y = (x + 2)2 + 2

x

y

−6 −5 −4 −3 −2 −1

1

2

3

4

5

6

7
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25)  y = −2(x − 2)2 + 4
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28)  y = −(x − 4)2 + 1
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29)  y = (x − 4)2 − 3

x

y

−1 1 2 3 4 5 6

−5

−4

−3

−2

−1

1

2

3

30)  y = (x − 4)2 − 1

x

y

1 2 3 4 5 6 7

−3

−2

−1

1

2

3

4

5

31)  y = 2(x + 3)2 − 3

x

y

−10 −9 −8 −7 −6 −5 −4 −3 −2 −1

−4

−3

−2

−1

1

2

3

4

5

6

32)  y = 2(x − 3)2 − 4

x

y

−2 −1 1 2 3 4 5 6 7 8

−5

−4

−3

−2

−1

1

2

3

4

5
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33)  y = −(x − 1)2 − 1

x
y

−3 −2 −1 1 2 3

−6

−5.5

−5

−4.5

−4

−3.5

−3

−2.5

−2

−1.5

−1

−0.5

34)  y = (x + 4)2 + 2

x

y

−7 −6 −5 −4 −3 −2 −1

1

2

3

4

5

6

7

35)  y = (x + 2)2 − 1

x

y

−5 −4 −3 −2 −1 1

−2

−1.5

−1

−0.5

0.5

1

1.5

2

2.5

3

3.5

4

36)  y = −(x − 2)2 + 4

x

y

−1 1 2 3 4 5

−1

−0.5

0.5

1

1.5

2

2.5

3

3.5

4

4.5

5
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37)  y = 2(x + 2)2 + 3

x

y

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

1

2

3

4

5

6

7

8

9

10

11

12

38)  y = (x + 1)2 − 3

x

y

−4 −3 −2 −1 1 2

−4

−3.5

−3

−2.5

−2

−1.5

−1

−0.5

0.5

1

1.5

2

39)  y = (x + 4)2 − 4

x

y

−6 −5 −4 −3 −2 −1 1

−6

−5

−4

−3

−2

−1

1

2

40)  y = −2(x + 3)2 − 3

x
y

−10 −8 −6 −4 −2 2

−12

−11

−10

−9

−8

−7

−6

−5

−4

−3

−2

−1

Use the information provided to write the vertex form equation of each parabola.

41)  y = x2 + 6x + 11

y = (x + 3)2 + 2

42)  y = −x2 + 14x − 50

y = −(x − 7)2 − 1

43)  y = −x2 + 10x − 16

y = −(x − 5)2 + 9
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44)  y = 
1

3
x2 + 8

y = 
1

3
x2 + 8

45)  y = −3x2 + 6x − 5

y = −3(x − 1)2 − 2

46)  y = x2 + 10x + 34

y = (x + 5)2 + 9

47)  y = −2x2 − 20x − 55

y = −2(x + 5)2 − 5

48)  y = −
1

2
x2 − 9x − 

71

2

y = −
1

2
(x + 9)2 + 5

49)  y = 3x2 − 36x + 101

y = 3(x − 6)2 − 7

50)  y = 4x2 − 80x + 393

y = 4(x − 10)2 − 7

51)  y = −x2 − 16x − 66

y = −(x + 8)2 − 2

52)  y = −
1

14
x2 + 

10

7
x − 

92

7

y = −
1

14
(x − 10)2 − 6

53)  y = −2x2 + 40x − 208

y = −2(x − 10)2 − 8

54)  y = −
1

11
x2 − 

10

11
x − 

124

11

y = −
1

11
(x + 5)2 − 9

55)  y = 
1

3
x2 − 

4

3
x + 

28

3

y = 
1

3
(x − 2)2 + 8

56)  y = x2 − 2x + 8

y = (x − 1)2 + 7

57)  y = 2x2 + 8

y = 2x2 + 8

58)  y = 
1

3
x2 − 2

y = 
1

3
x2 − 2

59)  y = −3x2 + 36x − 113

y = −3(x − 6)2 − 5

60)  y = x2 − 4x + 2

y = (x − 2)2 − 2

61)  y = x2 − 20x + 105

y = (x − 10)2 + 5

62)  y = 
1

2
x2 − 9x + 

85

2

y = 
1

2
(x − 9)2 + 2

63)  y = x2 + 20x + 110

y = (x + 10)2 + 10

64)  y = −2x2 − 12x − 8

y = −2(x + 3)2 + 10
65)  y = 

1

4
x2 − 

1

2
x − 

19

4

y = 
1

4
(x − 1)2 − 5

66)  y = −x2 + 16x − 60

y = −(x − 8)2 + 4

67)  y = −x2 + 18x − 77

y = −(x − 9)2 + 4
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68)  y = 4x2 − 72x + 334

y = 4(x − 9)2 + 10

69)  y = −3x2 − 36x − 103

y = −3(x + 6)2 + 5

70)  y = x2 − 8x + 11

y = (x − 4)2 − 5
71)  y = −

1

4
x2 + 

3

2
x − 

21

4

y = −
1

4
(x − 3)2 − 3

72)  y = x2 − 4x + 14

y = (x − 2)2 + 10

73)  y = −14x2 − 280x − 1397

y = −14(x + 10)2 + 3

74)  y = x2 + 6x + 9

y = (x + 3)2
75)  y = 

1

4
x2 − 

5

2
x + 

49

4

y = 
1

4
(x − 5)2 + 6

76)  y = 
1

17
x2 + 

8

17
x − 

120

17

y = 
1

17
(x + 4)2 − 8

77)  y = 
1

2
x2 − 2x + 10

y = 
1

2
(x − 2)2 + 8

78)  y = −2x2 − 28x − 98

y = −2(x + 7)2
79)  y = 

1

3
x2 − 

16

3
x + 

64

3

y = 
1

3
(x − 8)2

80)  y = 
1

4
x2 + 3x + 6

y = 
1

4
(x + 6)2 − 3


